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®) s gEst

(© g

D) TR

= 5u o foepedi ° A ot IR w1 99 e

1) A SR (2) (&) s (B)
(3  (B) IMD) @ (C) 3R D)

[Question ID = 155][Question Description = Q55_Hindi_SH2_Set1_A]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4, 4 [Option ID = 620]

56)
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@)  fewgd =
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1) @A) IR0 @ @ D)
(3) (A) =% (D) @ ® ()
[Question ID = 156][Question Description = Q56_Hindi_SH2_5et1_A]
1. 1 [Option ID = 621]
2, 2 [Option ID = 622]
3, 3 [Option ID = 623]
4. 4 [Option ID = 624]
57)  wpmeiger = T wEAEY % o1 H 99 FET 27
(A) Tt =t gt Fi weEl @ %I
B) 5 9= w0 W o= F 3o Wi F Tees # 9w 2
(C) ST T U 2 Se H1 §a B Jrer satad )
(D) =AfFa % W9 % W-TA0T 1 ITteafad gl 2|
4 Tau e faseu 1 O wE T W 99 i

1) (O D) (2) (B) 3 (O)
3 (&) IR(O) @ ® T’ D)
[Question ID = 157][Question Description = Q57_Hindi_SH2_5et1_A]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]

3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

38) ‘g’ e ¥ Huitg ¥E 927 WA g 37
(A)  IE a7 =i A A waitas a2 |
®) o F T gen T 2
(C) =5 i Sramw =ie F 2|
D)  zoH A Sl T A S T R

4= e o et ° ¥ v T w1 == i
1) Q) R 2) (B) SR (C)
3 (C) 3 (D) @ (&) R D)

[Question ID = 158][Question Description = Q58_Hindi_SH2_Set1_A]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4, 4 [Option ID = 632]

59) wuwdg 37 % TgE FEuw

&) s Tl
B)  FEY

(©) W PRl W

(D)  TOETER T

= fu o freewt § ¥ w@ T w1 T fil
1 @ D (2 (B) 3 (0)
@) (B IRD) @ (A) FR®B)

[Question ID = 159][Question Description = Q59_Hindi_SH2_5et1_A]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]

| 3. 3 [Option ID = £35]
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| 4. 4 [Option ID = 636]

60) frafrfi # 4 H ‘S F WA T 3

@A) I ™
®) TR

© wrloE
D) wERE

4 Tou v fapet W T TEl IR W 99 e
1 @ @B (2 (A) FR(C)
B3 (B D) @ (C) s D)

[Question ID = 160][Question Description = Q60_Hindi_SHZ_Set1_A]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

61) “grerantirft’ % wioura 2 :
A =it gemrd = g 9 R fava W ma FE gk e g8 2
B) I8 ¥ 1M T e w6 ael G w8 omweem T35 a2k 2

(C) T S9eR W & i 3%g T 2| 769 TH A 99-FOAR THH STCIER T

@)  =h w3 A FR B A w2
2 feu v el § I Wt Sw w1 w9 i

1 (A W) 2 (B) ¥R (D)
8 (C) D) 4 (B) ()

[Question ID = 161][Question Description = Q61_Hindi_SH2_Set1_A]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4, 4 [Option ID = 644]

62) ‘3 wrmR T AR A wERE 3
(A)  TATgeR
B) o F

(© sl wgl g
D) @z Ul e

4 fou U fermedt 1§ O w@E TR 1 I i
1) (@) W@ 2 (B) IR (C)
(8) (O IR (D) @ (A) A D)

[Question ID = 162][Question Description = Q62_Hindi_SH2_5et1_A]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = &47]
4, 4 [Option ID = 648]

63) ‘s g7 % wey A AU fomr g 37
(A)  IE HEHEA $ 3SNEd fo i =1 9T A 2|

B) nYHE YEEY H T FEA TR Y 9T e w9 F IeeieE T 2

P kY T ST m —— =T T T T TR 3
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L~ WRE Y TEELSEL OER TET R WA Mgk g w4 W oETRALY ntoa e e
b

D) ‘U snufE AEd s @ w2
= B U el J 4 ot IR H 99 e -

1) B D) @ (B) 3 (C)
3 (A (D) @) (A) 3R B)

[Question ID = 163][Question Description = Q63_Hindi_SH2_Set1_A]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4, 4 [Option ID = 652]

64)

“TRA-ga % AR # FH-8 frar wd 27

&)  zE 3 werr et 6 wgfa | gsn B
(B) ¥ Tz w1 ugen Ui AR 21

©) =8 fa=m yam ars 2

(D) o IS U9 1 vra & fam 4 5 6 2

= feu mu faeent § @ W@ s =94 it
1) (B IA(C) 2) Q) IANB)
3) (B) 3 (D) 4 () (D)

[Question ID = 164][Question Description = Q64_Hindi_SH2_5et1_A]
1. 1 [Option ID = £53]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

65)

TG T T o HeHd WE 9T B

(A) g A A s i aeet et % Wi o i g

®) wFE A ok whEa-adet F = AR

(C) o Hg % Tl 39 =1 fawa grnios wofi i 21 gepar 2 3R qwwer o
D) g i i AT 2

#= fou T e § F w@ s = 9= Fi
1 A RO (2) (A) 3 (C)
3 (B) WD) @ (C) sk (D)

[Question ID = 165][Question Description = Q65_Hindi_SH2_Set1_A]
1. 1 [Option ID = 657]
2. 2 [Option ID = 58]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

66)

-1 % g g -11 1 fiem Fifoe -

-1 -1
&) Uiy e @ 1968
(B) #Hg i TS wikfa & g (I) 1955
(C) T Fffrm (III) 1959
(D) "HH IV) 1963

e feu o frsseul O @ wrd e w1 =9I &t -
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B A@-0. B -d). © - dp. O - IV)
2 @-dn, & - av). € -@O. O - dh
3 @-avy. B - O. (© - {an. Oy - )
4 @-dn. @& - dD, €) - dV). D) - @)

[Question ID = 166][Question Description = Q66_Hindi_SH2_Set1_A]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

67)

efl-1 & w1y g=fit-11 #1 faem i -

gli-1 gHfi-11
(A) RN @O 3FER T
(B) TERT (ID) T
(C) ugEd (IIT) mea ge
(D) TiEREHTrE (IV) =%
fr2 fou e foepedi § & wéww =1 w5 Hifv -

1 @W-O. B - d). () — dp. O - dV)
2y @-av. ® - Un. © -O. @O - ab
3 @-dn. ® —@. © - av. O — a1o
@  @-av). B —d. © - ap. O - O

[Question ID = 167][Question Description = Q67_Hindi_SH2_Set1_A]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

68)

-1 % | gH-11 1 e i -

g -1 gH-1I
(A) IFER P () ArERY Sef
(B) =1 M (I) AT A
(©)  ga Tl (IIT) w&eA
(D) 3O SR (Iv) fifa Jrea
fra feu e fospedi § @ wdft T & w3 Hifag -

1 @-O. @’ -dh. © - db. @O - IV
2 A-dIh. @& - aJv). ) - dn)., @O - @
3 @-dn. @ - dn. © - av). @O - D
@ @-advy. B - @O. © - dh. Oy - dI)

[Question ID = 168][Question Description = Q68_Hindi_SH2_Set1_A]
| 1. 1 [Option ID = 669]
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| 2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

= -1 % Wy -1 1 B $ife -

geAi-1 HI-11
(A)  TRER (D g gdul
(B) 22 ARH (I sfiEg wrd
) favamy (IT) 323 Tdu
(D) e I (IV) %req i
= feu T ool H ¥ w1 =2 Hif -

1) @-dn. ® -@O. (© -dn. @) - av)
@ @-I)., ® - adp. © -@O. O - dD
3 @-0O. @& - Jd). (€ - dJd. D) - av)
4 @@-dadn. @& - av). € - dn. O) - @)

[Question ID = 169][Question Description = Q69_Hindi_SH2_Set1_A]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4, 4 [Option ID = 676]

70 gefi-1 % e g-11 1 e Hif -

-1 HHI-11

(A) I i S @9 a2 u TR 9, @ 2
<ol FarerEredl 3R diwl nfzaerqan

(B) BRAS WHEAH & WH T H 274 &, Il 91 () 94 919
quen | e 2

(C) w=a wga gy wi, gl 7 fp gu oA g wem (TID) < 2a
ggal I 71 fob qu wed it wfd @

(D) dy=1 HElad W wcH 8 Mfesa gA s wi gl (IV) A

e fer e et § @ Wt IR @1 = A

1 @A-adn. @ - @O (O - av), ) - JdI
2 @&-O. O -dp. © - dn. @) - av)
@  A-dn. B —-adp. © - O. O — av)
(4 A)-adv). B) — d. (C) - {dn. @) - @O

[Question ID = 170][Question Description = Q70_Hindi_SH2_Set1_A]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4, 4 [Option ID = 680]

71)
H=t-1 % | g -11 %1 e ifs, -

T -1 -1
(A) AT HEH Higd (Iy a1 3=
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(B) UHERYA =l
(C) WA

(D) s

el feu Tw fasedi 4 @ @i I F1 =994 Hifow -
1 @-O. B - d), (€ - dib,

2 @-=-0adn. @ - dh. ©) - dv.
@ @-Iv). B - D © - dabh.
4 A-dD. @B - dV), ) - @.

1D e
III) Fo1-u4
(IV) udian e
(D) — AV)
D) - @D
(D) — dII)
D) - D

[Question ID = 171][Question Description = Q71_Hindi_SH2_Set1_A]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4, 4 [Option ID = 684]

72)

Tei-1 % Ty =i -11 1 foem i -
-1
(&) <AEIE
B) dEE
(C) afdeH

(D) MY

e feu mo fawedi 4 9 wd s &1 vz i -
H @-O. B -d. © - d.
2 @-ad. @& — dDn. © — av.
@  @A-dn ® - av. © - @.

@ @A-av. @ - dn. ©) — dan.

g -1
@O =6 =l g
@ i
(I{I) Wl

(IV) 39+ &3 9N

D) — (dV)
(D) — (D
D) — dn
D)y — @O

[Question ID = 172][Question Description = Q72_Hindi_SH2_Set1_A]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4, 4 [Option ID = 688]

73)

-1 % |y Fei-11 &1 firem Hifse -

-1
(A FB 9 33 fafg
B) AT H G
© gEAigTEa
D) PP
e feu o fowedt 4 8 wd R E w94 i -

11
O Tmud fag T
@) T o e
(D) R w3y fae
IV) TgEr T5H

1 A-0V). B -O. (© - dh, O - {dbh

@ @-d. @& - dnh. © - @.

D) - Iv)

3 @-dn @ -d. © -av. O - @O
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[Question ID = 173][Question Description = Q73_Hindi_SH2_Set1_A]

1. 1 [Option ID = 689]
2. 2 [Option ID = 630]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

74)

-1 % W G-I 1 Frerm iR -
= -1
&) Hrw firg s fis ©ie g
(B) &l fawrsdi s 41
(©) A S TN F-V FBR
ug ®e foes @, 3R
(D) 39 910§ & S H HH
INYad 39 94 1 T

f= feu e fepedt W © @ IR w1 = Fifa -

1 @W-O @G -d). © - dh. O - (IV)

2y  @-OV). (B - {dI). (C) - dDn.

3 @-ddn @ - @O © - av. O — I
4@ @-dnp. @d®-d. © - adV. O - dh

[Question ID = 174][Question Description = Q74_Hindi_SHZ_Set1_A]

1. 1 [Option ID = 93]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

75)

FH-1 % & g -11 %1 foem Hifoe -

Gt -1 (FTER-3A)
(&) 3
(B) T
() A

(D) dieied

4 fo U foeredi B @ W@t IR w1 = Hif -

FHi-1I
@M s g
I =i wrfa
D) rEfrenal
av) s fata
D)y - @
Teh-11 (&)
(L =
In 9
(IIT) 4
avy @

O H@-0O. @G -3ad). © - 4. D) - dv)
@ @-{. ® - dD. ©) - av. O - @

(3 A-Ai). B) - AV). (€ - (D).
4 A-avy. G - dn. (€) - {dDh,

D) — 1)
D) - D

[Question ID = 175][Question Description = Q75_Hindi_SH2_Set1_A]

1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

76)

yHIIH a4 & an fekifaa Tesl = ad 9w 2 -

(A) B
(B) @@l % USEH
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(C) Mg 1 U e

(D)  MY-HAF

= fou U faesedl 4 ¥ TE SW 1 994 g

(1) (A4). (B). (C). D) 2y B. ©). D). &
(3) (©). (B). (D), (A) 4 D). Q). B). O

[Question ID = 176][Question Description = Q76_Hindi_SH2_Set1_A]
1. 1 [Option ID = 7]
2. 2 [Option ID = 70Z]
3. 3 [Option ID = 703]
4, 4 [Option ID = 704]

77)

THTSH 9 % IEER FIIFE IGTE h FE 1 T TFET B -

A A

(B)  HAHIE

(C) 1MW

(D)  TegEE

9 feu m fawredl © O W@ W # 93A gHU .

(1 (©). D). B). W (2) Q. B. ©). D
3 B, ©). D). &) 4 (D). (B). (A). (C)

[Question ID = 177][Question Description = Q77_Hindi_SHZ_Set1_A]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4, 4 [Option ID = 708]

78)

Taefaiaa gl 1 wEl A% 2 -
@& Tufers

(B) HEE H g His I

() fdewa fpdifesy

(D) & ufyee g wied

#r2 fou o fasredi 4 B W TR @ = g
L A ©), D). B (2) (B). (C). D). (A)
3 (O A, B), O 4) (D). (B). (C). (&)

[Question ID = 178][Question Description = Q78_Hindi_SH2_5et1_A]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4, 4 [Option ID = 712]

79)

JHI9M =Y h IR UgEe D FE FH T w9 2 -

(&) el B

B) T WIE

(C) U™ qHya

D)  Srom

Hra fou o ferepedi 4 | =g I H 991 g

@M A (©) D). B 2 @) B) &), (C)
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(5) (L), ). 14), (5) (2} (L), (A). B), (L)

[Question ID = 179][Question Description = Q79_Hindi_SHZ_Set1_A]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4, 4 [Option ID = 716]

80)
0 ay % HAEE Fefafsa @R % ud we @ -
(4) e fa
(B) Tk 1
(C)  wIgFs T
(D)  31EAYH QIR
Hra fou e faemedi 4 8 s TR 1 95 g
(1) (B (©). D). A) 2) (©. M. Q). (B)
(3 A (0. D), (B) 4 D) B). (C). A

[Question ID = 180][Question Description = Q80_Hindi_SH2_5et1_A]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

81)
Y 94 & O AT I  IUATH BT Tl IHY B -
(A)  Teremq =1 &4
(B) H&HM
(€) Hh w1
(D) gl 4grHE
Hi= feu mu ferpedl T U wE SW H 9=H AT
1 D). A). B, © 2> ®B). ©. A). D
(3) (C). (B). D). &A4) 4 Q). B). (C). D)

[Question ID = 181][Question Description = Q81_Hindi_SH2_Set1_A]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

82)
YHISH 9N & IJER ST TH1G & 171 F1 J8l 3% 8 -
&)  ATEY
(B)  yawarHl
€y usgsh
(D) T
A=l féu o fomedl ° @ W@t T @ =937 g -
(1) D). B). A). (C) (2) (B). (C), (D). (&
(3) (A). B). (C). (D) @ (©). A, D). B

[Question ID = 182][Question Description = Q82_Hindi_SH2_Set1_A]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]
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| 83)
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D)  ETE W F

= fe o fasredi o A wé T o w99 3P -

DM @A, B. ©). D 2 @) (©. B. &
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[Question ID = 183][Question Description = Q83_Hindi_SH2_Set1_A]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

84)

SeTe o IER Ffiad s s wd 9w @ -

(&) -9

B Y

(C) gudas

(D) ST

Hr fen o faeedt # @ w@t s = g -

1 @A. B, ©. D (2) (B). 4. D). ()
(3  (©. B). Q). D) @ O. ©. ®. @

[Question ID = 184][Question Description = Q84_Hindi_SH2_Set1_A]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4, 4 [Option ID = 736]

85)

frmaferfiaa e ol o1 wdl s1gen @ -

(&)  Sfen

(B) =ia %I 4R g2

(C) o

(D) HEQ U USH d%

Hr= feu U faedi U 9 T IR 1 95 gAY -

(1) D). B). 4). © 2 (A4, B). ). (D
(3) (B). (C). 4. (D) 4 (©€). B). . &

[Question ID = 185][Question Description = Q85_Hindi_SHZ_Set1_A]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

86)

2 @ ey for e 3 : AU (Assertion A) % ®9 1 faflag 3 91 guU 38F HAW (Reason R)
FEIY
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(1) A 3R R A @ 2 3K R. A 6 o samew 2

(2) A 3RRSH w g, @it R, A 6wt smen = 2
(3) A¥™ R, ot R 36 2)

(4) A FEA R, Wik R 9 2

[Question ID = 186][Question Description = Q86_Hindi_SH2_Set1_A]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

87) f= @ wua feo o 3 . v sifeun {AsserﬁﬂnA)ﬁimﬁﬁ’ﬁ@H%H}I@ﬂaﬁgﬁm{ReaSGnR)
*EY Y

sfirpeA A W AifEc-go 1 99 FRO 4™ H Tl 2|
FAUR  : (6 AW F R Gz & giEFegT TEE 2

I HYF & A 4, =2 few mu fawmedi A 9wz 1 =m Fifdu

(1) A JRR <A w9 3 3R R, A 4 981 = 21

(2) AR R 7 3, SRF R, A & wdl =mwen 78 2
(3) AU™ 3, dfk R 315 2

(4) A 3TH 2, A1 R T 2

[Question ID = 187][Question Description = Q87 _Hindi_SH2_Set1_A]

1. 1 [Option ID = 745]

2. 2 [Option ID = 746]

3. 3 [Option ID = 747]

4. 4 [Option ID = 748]

88)
= Q) wya feu e 2w AT (Assertion A) & ¥9 1 fafled 2 1 gHU 0% HRU (Reason R)
HEIH ;
ifirRem A ; S SfEl 1 9 2 T U & 31 9es T 6 2

FRAR  : FiF I3l & w1 R o F w0 ars sganefl g 2

I A 6 A 1, A= fou 1 fawad § 2 af 3 %1 =71 Ay .
(1) A 3R g3 2 3 R, A 61 adt sy 21
(2 A SRR T g, afF R, A & gl soren 3 21
(3) A %A 3, dRF R 3\ 2l
(4 A 399 2, dfF1 RT3 2
[Question ID = 188][Question Description = Q88_Hindi_SH2_Set1_A]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4, 4 [Option ID = 752]

89)

A3 & %o fou o 2 ;o AATUEU (Assertion A) % w9 1§ fafled 2 91 g0 6% FRO (Reason R)
FEYH ;
HUHH A Heg wea % sifEE gigA 2)

FI R 39115 Hoyql HA 4 5149 2|

IYUH HYA & el °, e foe e famedi d @ v sagws 1 95 Hifw

(1) A 3R RIE udl € 3R, A 6wt =men 3
(2) A 3RRIE udl § 3t R, A A wdt =wen 7@ 3
(3) Awd R afe Rud A 8

@  Awdi 7 2 AfF3 R w2
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[Question ID = 189][Question Description = Q89_Hindi_SH2_Set1_A]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4, 4 [Option ID = 756]

90)

e 21 e for e B u AREUA (Assertion A) % w1 1 fiRad 2 91 U 3WH FWU (Reason R)

HEIT ;

AR A : Figa T F T B IS B 2

FRUR  : UTSH & 329 hl Whd Rl Hiqa A 694 B

IR HUA % e 1, A o e fopedi o 4 o= 3ugw 1 =5 Rl
(1) A3 RIN wft & 3R, A ad s 3

() AR g @ 3t R, A it gl sarem 74 21

(8) AuH 2l Rud A Al

(4) Awddi 2o R ad 2

[Question ID = 190][Question Description = Q90_Hindi_SH2_Set1_A]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4, 4 [Option ID = 760]

Topic:- Hindi_SH2_Set1_B
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1)

frém - Frfafa s =i saryEs afer o w1 s G v el 3 @ gfm

A7 TRl ST 1 ATE T TEEE TEF 927 T 6l 89 T 3, O THE AEy 7 SH weg Fi e |
Uk ITH IFI H I TR e W e gen 8, i @l wed wifeex % tmir = Avom 78 gen 2
g & 79 H iR @ GEeFd SR S9a s 3 SR ot 3w s w9 o o ik Ty fomm o 2
ik a4 e w9 % s ik 3R Y sl T w1 e da 31 S @ an st §)
FEih TR 29 T A il F FEEPR AR T a6EE 3, Seih g GHTS ST 3 T ° T 5 B,
e T T R T oWE F Ao % A ol g8 2, 7w o e i £ anf et w2
T |ifged % T W FD W @ 7 9K I TS § @ 5, S8 Fal a9l 9t w= ® wh 2| o fiw sk
aTE oTa H OTE-TERy TE 2| e N Ui 99 o o5 5 O o 9% 20 WISH § U Uy st
HATHAT W T F G, S U AFE-TE B at ¥ SR A 4 ge 9 SeE-Aand $e % o we
ST T | SR Mg FATHIL A B Wl §1 T W Uik STl wigd % SR 39 amhn HowE
TR F W, F I 751 B g B TEEH 8| IR T8 ARG SR TH 5% a1 el ot e o 9 o
7, T8 v et W Rag wft i ghemerd ofR sTerht e # s ol | antafers Teat % w
ToS1 B oF T T Feel TR, AR T STUAT TR @ e T SR 3Teudr § B Hedl 3eal oS
T Tal T 2| Y@ B =

fepefl 291 3 3k amfel @ St -Futn g wva 2, 59 -
(1) 3 <M % o w=aiE F

(2) 4w I gunfaey 2

(3)  3W W F M T A

(4) 39 W U FF-FE & UqE |@ieE =g 1)

[Question ID = 191][Question Description = Q91_Hindi_SH2_Set1_B]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

| 2)  fim : Frefoiag SEEw Fi AT T6U S T3 1 W 2w T et § @ g
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3t el S7 1 9TQ =9 TEEE A 920 G5 TEl S9 T 2, ) OOF Oiey, 7E 38 Teg i SIem |
TH I=9 S, H e S gE T gen 2, oW 98 w=d aifecy % T e T gen 2
Tifee & AFe w1 Hie) ¥ gUeFd SR I9d T 7 o At swe A T o wrw ik e T g 2
AR T F AR T ATE S T 2R W ST W T o TR T 1 o F W sFEeanaa B
SARF SAR S0 T T 91 % FAEFR AR Tl a9AE 2, Faih gUR T o ST 3 U 0 T el 2,
wafE TR Tod Fl-wdt SHa AT % wee % A ol 58 2, a9 g g g 6 enfi el @ga 1 2
FA TIEca & T T A TB F @ 8 A FTH SR 2, IW Tl 991 0 A @ T F) e iR R
Tt 31 off Are-Tae FE 21 AiEer $ Ao 99 9% 5 g @ 99 9% g9 USH § U UH s
I ST A AR G, | R AFG-AEE w0 W " SR A W gRR 9 TE-AE ' % R e
P T | 3PT T8 SAFET S 3l Wbl al 3A0 W Weds A3 wiiFd % 3R 3 qEiE wows
TR W, A IH 3951 Al Y B HEEE 31 SR Tg AT TG A1 55 Al o ot T w4 T 9l
2, 95 T S w fag At el gl ot et w0 ehrmen 2 s it | artafis Feer % w
=31 Bl o WA T I TS, 97 T S0 Tl T T O1EE i STeqdT § #is Tedl Toat o
T Tal 6 2| Y@ FF =g

g -y sl Sl S FR0 2 -

(1) <o FenfeE 4 s e 3R 9er & vid 31ge 39t iR Sisaan 1 S|
(2) W H RS FV UIH FI HEHR T I FdAT H 3 AE S0

(3)  wHS A = vgl g

(4) &t it s e 2

[Question ID = 192][Question Description = Q92_Hindi_SH2_Set1_B]

e ld B

3)

. 1 [Option ID = 765]
2 [Option ID = 766]
. 3 [Option ID = 767]
4 [Option ID = 768]

frm - Fefoiaa smam F:i = e 3t w5 =1 3w 5y e fomredt 9 @ ghm)

AT TRl ST 1 ATE T TEEE TRF 927 GOF 6l 9 T 3, O SHE AEy 7 SH Teg Fi S |
U I g, 61 T TR S v 9 gen 2, owia 98 e wifeex % Fmier w Ao 98 gen 2
TifEes £ 09 F fieR @ guera AR 90 59 2 SR vt 3w A w9 i wre i =y e g 2
FW W F G T % WE SN W g U ShicE WA i SR BT 21 g 8 i S 2
Sl TN 491 B T il % PEEPR AR T anEE 3, SEih g G ST 9 TG ° g g 2,
e 70 T BT S SWE F e A o g8 2, aw = e e e o feeh w2
A WMEeA % AW W FD AR B 2 AR T 4 © 8, S wE a9l ald wl ® w21 s fiw sk
AR 374 ATy TE 2| AEe F WO 99 9% 957 4 W 5 OF B9 W § UF UHt e
AT SE A B G, SR AFa-T9S B Wi ¥ SR A 3 g 9 SEE-ArT < % o ga
SThel T | SR Mg FATHILN A B Wl §1 T W Yo STE—arel wigd % SR 39 amhe oA
TR F W, F I TSI B Y B TEEH Bl IR TE ARG SR TH 5% a1 el ot e o 9 o
A, T8 T e W g wht i g ot Terh o ewren # s ol | antafern Teat % w
T=O1 B oA T T (iR TR, A7 T ST T W e O B STeuar | Fis Hedl 99at o
T Tal 6 2| Y@ B =g

BN a9 "ifge -

(1)

(2)

(3)

4y

wfdd, ¥ 3 3o H sTEvEEmall % ey 2|
AT o7 1
AT ST FEEN G HE 1 TR 2

aroityre el =1 ool =13 o uft A= gam a3 2
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[Question ID = 193][Question Description = Q93_Hindi_SH2_Set1_B]

1. 1]
L
33
4. 4]

4)

EL3|

Option ID = 769]
Option ID = 770]
Option ID = 771]
Option 1D = 772]

frm - Fefoiae smam F:i = 9o ot w5 =1 3w 5y e fomredt 9 @ ghm)

3t Tl 57 1 9TE =9 TEEE AT 920 G5 TEl S9 T 2, O S99 Aiey, 7R 38 eg i e |
T 399 T, H i e s wE 6 gen 2, sl 9l w=d oifeca % Fmiw w0 sfemom T gen 2
Tifee & A 1 i ¥ gUeEd SR I9d T 7 o At swe A w0 o wrw ik wme T T 2
AR A F AR T S UE S T IR W RS W T ofl TREY B 2 o B W sfeanda 2
@i FAH Fou P-FE SHG FTH F "es B 4 ool 58 2, a9 g6 A wneg 5 enfi ot ama g 2
7 Itaea & T W I FD W TE 8 A A FB & @ 7, SO Fal a9l a7 i 2 e i ek
T e it ArE-Ted T8 21 GifEeT B Qe 99 oF o975 & Wl 99 9% &5 WeHl § U udt sigaAtE
IR IO T W G, R AFE-GE B W W TR 9§ G a9 WA 6 % o '
<ATHe T | 3R A7 AFET WA 3 TP a1 g | Wedsh ITHT- 21t wiF % S9En o g Ao
e W, A IH 3951 A Y B HeHE 3l SR Tg ACHG WG Al 55 a1 Foal ot e w4 T 9wl
3, 98 T Foe A g 2t o gRener i wTah = ewimen @ s wil S ot e % @
=31 B oFF T T Fha TS, 97 T S0 T TS T TR S o9 § FE O Tos o
T Tal 6 2| Y@ B =g

srfeee 1 aftfa srarriia ol = q@ 2 -

(1) W 3 GRI U ) iaaigy gERehd 3R 39d S

(2)  wifg % R g9 % sl et @1 fasm ava 78 21

(3) IS % EiE TEHH 3N WRe % o ifzaa 9rea a2

(4 WIS F 9 F9 B Gl 3 Ty F9M)

[Question ID = 194][Question Description = Q94_Hindi_SH2_Set1_B]

1
22
3. 3]
4. 4]

3)

Option ID = 773]
Option ID = 774]
Option ID = 775]
Option ID = 776]

frEm : Fefoiea = Fi e qien oft 797 =1 I o 70 et § @ 9w

A7 TRl ST 1 AT T TEEE IEF 927 T el 89 T 2, O SHE AEY 7 SH weg Hi oI |
U 39 g, 1 T e S v 9 gen 2, owiia 98 wew wifse % Fmier w Afvom 98 gen 2
g & 79 H HieR @ gEeFa SR 390 s 3 SR ot 3w s w9 o o ik Ty fomm o 3
ST T F) A T % G S T B U AR T ) ST gial 21 g1 Bl S S 2
T FAR 50§ A1 i % FAEFR IR T a0EE 3, J9h gHK AT A A1 30 U ° G g 2,
walE FA ol - S W F Wor % A oefl 7% 2, 99 w6 e w6 anfi el wga | 2
T |ifged % T W N FD W @ 7 9 I TS § @ 5, S99 Fal a9l wlt w= w® w2 g fiw sk
aTE ot OTE-TEy TE 2| wieen i U 99 o o9 5 T S 9% 20 WSH § U Ui s
AP SE A B G, SR AFa-u9S B e ¥ SR 9 3 ge 9 SEE-ArT <A % o g
SThSl T | SR Mg TR A B TRl §1 T W Yo STE—arell wind % SR 39 amhn oW
TR F W, F I Fo51 B Y B TEEH 5| SR Tg ARG SR TE1 5% a1 el ot fen o 9 o
A, T8 T e W g wht i gl ofR et o ewren s ol | antafers Teat % w
=51 B o TEd T e T3, 92 T A1 T @i e T i oTeadr |§ P TEdl Tea AT
T Tal Th 2| @ B =g
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e FE & faan -

(1)

(2)

(3)

(4)

e H9a A€ 2
foren =19 2 3 wifzfees fser & e g 6 @19 Hva 7@ 2

T 6 gy "y B, wol § weA Hifa 21

gfrn & Siare @ gfda v 2|

[Question ID = 195][Question Description = Q95_Hindi_SH2_Set1_B]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]
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Topic:- Hindi_SH2_Set1_C

1) flw : frefafiag sEeo 5 s iy 3 sy = s e e et 3 g

FHf==T o wea arpl A 9T @ FeaT STl AT FAT 21 9%: 98 el 1 UHal & R 3 &

it % w=0 F forn url @i 21 TE-ER F e 8 we Ten gt 81 s ¥ w9 i Sed g st

s TR i Aue F =g A & o TR SHi-SH S W W 2 T SR wear Sedl e -l

T W T Yl SHEEECTE 21 T 3 T W TE & gig-STauERa® A1 [GEeT® 2 a5 o
forega &1 T 21 oTa: Iu RO % W B T ged W fawan off sewn wem| e i Ben @, dmbw
e 3t srgum g sgaiea aRieate sfic qwai = wreael ua = g9d o gelia s fi-sue 39 =g
T yeasfr i 7 a5 2o el v =1 19 5 Teh-miaAl B i 3R 359 Bed I U A4 B

Ted el & Wed | feferiiEa o ¥ wa-w sy wd 27
(1)  aSuife fadam 3 sgnfen ofifeufeat si aeai & gdeasfi va @1 gd 3k oofs faam =9 %o

R UL AL 2P

@  frer & e @ oRiRafel 5 ofenfl gd of wefa va w fadw S)oE
(3)  igayd, B faem 3l amive fasem @ sguniea mits uitfeufa & gd o wsfia fom 1 5

F! 39 FHF S TH AV & 9 1 Wi H B

(@)  snyfie sEuE g sgafea uifufel ok vl % mieasll va # *fra 4 sfus wm

Bl

[Question ID = 196][Question Description = Q96_Hindi_SH2_Set1_C(]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

2) fdw : Fefetias sEa =+ sgEr aier it yea = g ey et @ g

THEET TR T AR | 9T W FeU A9l A BT 2| 9F: A% FE1 S Wl & 9 T A
A % TR % oI 6El Giern 3| TE-TER % ik ¥ 9 6 S 21 TR | W 6 Je A
sae T i quTse % =9 1 31 @I TR Sa-591 o390 1 TS i T SR 9T aedl e ool
T I T Sl SHaEEEEE g1 T € G B T & §ig-SHAaarTens A1 feaeas g agg A
forega 21 T B) oTa: SHE TR % W 76 A oA B faear off somn wem e i G @, e
e ottt sTgoum g Sgafen uRfeafaal ot qzal % wieasli ver =1 wd ofR wefra o fi-so 39 =
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Y YA 0T U1 196 9% 291 TRl 919 1 T84 51 oh—h1adl T 19 AW I=o HeA Fl Uh d&0] 5P|

A el & nar W frafafes 3 @ fA-m s vl @6 2

(1)
2
(3)

(4)

AH-ET 3R & -TER OR Hefte 3|
FA-SER &% A ¥ WE-THR R B}
FH-YER % Ha 9E-SHR 8 21
T $i Rl wa A fBafa A gdadi 21

[Question ID = 197][Question Description = Q97_Hindi_SH2_Set1_C(]

1. 1]
5T
3 3]
4. 4]

3)

Dption ID = 785]
Dption ID = 786]
Option 1D = 787]
Option ID = 788]

Fiw : Fetafas samm w5 emgEs e st wa =1 3w e 7y fomreat 9 gf)

THf=aT o T OERl A 9T W FET Sl A T 21 OF: 98 Fel o Thdl & 7 3 &
Al = TER o o A @ier 2| FE-TER 5 i 5 9 TR o 2| SR | 6ge A we T s1ema
si=as 79 f wnfe $ = 0§ @ TR sai-= ofar <6 feeem Al TSI e sedl TS ool
TS W g SHAHTICHS Bl T 36 S B [ A Sl - TR ees A fasmrens g sge 8
forega 21 T B 745U TaEaR % WM FH ST Ted B faear off sern wd ) e i e w, St
Terrar ofR STgum g SgaTen uiiataat ST azai % wieael uer =1 a9 Tl feeon sf-soe 39 =
o weasfiaor oft 5 a2 =ar Frdt w9 =1 a1eieq 21 T -l & i Si 359 HeT F UF 949 2|

TEd A & Ued § fefeifgd § 9 SiH-w1 %y wEl 87

(1)
(2)
(3)

(4)

snegfes 1 1 faani & frar % Wy e & fawan 6 18 sevEea 78 R
ZaE SHE 4 319 e & fawn & 91w gea =1 sE sEvEs 2
forand 3wl & faan it srEvesT e 6§ R, we 0 )

fem 3f Wil & fasar =1 yvE se ® aEad 2

[Question ID = 198][Question Description = Q98_Hindi_SH2_Set1_(]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)

dn : atetag sfaam # saryee aiey ofit yv7 =1 3o 5 1y femreat @ g

TR oy arefl € 9 W HeuT SR AT BT B oF: A8 FEl A1 Ushdl 3 6 3 A
et % w=0 F fore url @i 21 TE-TER F i 8 wE TEn gt 21 s ¥ w9 i S g st

s=Ts T A aufe % = A & 1| TR SE-591 o/ w1 Tem i T S weEan sedl 8 wai-oal

T W T Yl STEECTE 21 T 3W T H TE &5 gig-STauERa® A SGEe® 2 agd o
forega &1 T 21 oTa: IU FOER ¥ W B T ged W fawan off sewn wem | e i Ben @, dmbew
Termm 3t srggum g sgaiea Ricate sfic qwa = wreael ua = gd o gelia s i-sae 39 =9
T yeasfar Y T a8 2R el v =1 19 5 Seh-miaAl o i 3R 399 B i U6 A4 B

e e & e # Proferfiaa B 3 F-w we o @R

(1) & @ oo JAfsE 3w gt = gt st 3
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B

(2)  HiE-SAYR § FH-SA9R g=1iad g g
(3) M T, dwfe faasdi & ofta 4 wfa 1 o wei-sid @ wyg ey 2|
(4)  WE TR A % TER & fwR 2

[Question ID = 199][Question Description = Q99_Hindi_SH2_Set1_C(]
. 1 [Option ID = 793]
. 2 [Option ID = 794]
. 3 [Option ID = 795]
4 [Option ID = 796]

5) fdw ; Fretfige e #t samge ufe ot gva =1 s e e et @ gfiw

TREET gRT I weEll @ 9T W FeU SR AT B B 9% T8 FE T Uhdl 2 R 3w A
il G99 % o wrl g 21 3E-vER F die f ae TeR S 21 oy § nges i S g sttt
sfeTs TH # onfe % =9 A 2 @ R S=2i-591 o w1 f9Fm i T SR Aeran seal TS oo
T W T GG SHaEETS sl T 3 0 9 47 Yo - SAawEmeT T A1 AT 5 sigd 6
forega 21 T 21 oTa: Iu fOEOR % W B oI ged W fawan off sewn wem| e i Ben @, dmbew
Terem 3 srgum g sgaiea aRicale sfic qwai = wreqsli ua = gd o gelia s i-sue 39 =g
T yeasfw i 5 o zan et a9 1 a1eieA B Sh-iadl o I 3 399 T F UF 80 8|
ega srEal F g W Frefafea § @ FR-a wum o 37
(1) el S ¥gA & WY 0y % e 31l s B E)

(2) WA % wed % Wiy Aysy Fi gl 3w g 1 & B
(3)  wean & fapra % wy g fag gfg f Iw@ w R
(¢ e % fowm % ay ggs & faan sifvs snees 8§

[Question ID = 200][Question Description = Q100_Hindi_SH2_Set1_C]

1
2
3
4

. 1 [Option ID = 797]
. 2 [Option ID = 798]
. 3 [Option ID = 799]
. 4 [Option 1D = 800]
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Topic:- GP12_D2_SHZ_SET2_A

1 Study the given table and answer the questions that follow.

Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B. C. D). M- Male, F- Female.

lCountries | A| B C D

Y ear M|F | M|F | M|F |M|F
2016 36| 32| 42| 3.7 34| 2.8] 5.6 42
2017 4.3 2_9| S8 1.7 321 19| 48 38
2018 53 3.9' 54 3.7 3.7 22] 64 42
2319 6.7l 431 6.7| 56 3.1] 18] 5.6 2.8
2020 33 72| 6.9 54 21| 25| 54 2.7

#r & 7 TR # 9 AR Y By v e & SR
A & Tl arfeer # verelie faenfsal (@ws #) & awar & i § Sl 9R
faffies Q@i (A.B.C.D)¥ Uk e widAdlfiar & ster forar 81 M-9%9, F - #Rger

&ar A B C D

[ MIF IMJF MIF M F
016 36 B2 142 |37 B4 |28 |56 B2
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2017/ 43 % |38 |1/ B2 |1.8 4.8 3.8
2018 53 Bo [54 37 B7 2 Ib4 l2
2019 67 B3 |67 |56 3.1 |18 |56 |28
2020 83 |72 169 |54 B1 |25 54 2.7

Which country has the highest number of female athletes during 2016 to 20207

1. A

[Option 1D = 8001]
2. B

[Option ID = 8002]
3. C

[Option ID = 8003]
4. b

[Option ID = 8004]

2016 31 2020 & dizra foar So1 &t aifzan wercliel Bt waifts A= & 7
[Question ID = 2001][Question Description = $2_q5Nz_PG_GP12_Q01]

2) Study the given table and answer the questions that follow.

Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B. C. D). M- Male, F- Female.

!Cnuxmies =3 A B % D

Y ear M|F | M|F |  M|F|M|F

2016 3.6l 3.2 4.2|1 3.7] 3.4] 2.8] 5.9 4.2
2017 4.3 2.9] 3.8 1.7 3.2] 1.9] 4.8 3.8
2018 53 39] 54| 3.7 3.7] 22| 6.4 42
2019 6.7 431 67 56 3.1] 18] 5.6 28
2020 831 7.21 6.9 5.4 4.1) 2.5] 5.4 2.7

A & ¢ @it &) 9 sk AT /e v A F 3R &
A & T arfeisr & vyele f@enfRal (@« 8) & gear & .= & Fxle a)

faf¥iesr et (A.B.C. D) & & Wer FfAAfaiar 3 s1er forar &1 M- Q%9 F - Afger :

aer A B & D

las MIF MIF MIF M [F
2016 36 B2 |42 3.7 B4 s |56 k2
017 43 bo 38 [1.7 B2 |12 l48 3.8
018 53 B9 [54 37 B7 22 |64 k2
2019 67 B3 [6.7 |56 B1 |18 |56 2.8
2020 83 |72 [69 |54 1 |25 |54 2.7

What is the percentage of female athletes in 20177
2017 & afgen vesile fvmast gftrera 3 7
[Question ID = 2002][Question Description = $2_qSNz_PG_GP12_Q02]

1

37%

[Option ID = 8005]

38%

[Option ID = 8006]

. 3%

[Option ID = 8007]

40%

[Option ID = 8008)

3) Study the given table and answer the questions that follow.
Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B. C. D). M- Male, F- Female.

'CDu_nt:[ies_:’ A B C D
Y ear M|F |M|F F|M|F
Y- 2l 24l ial 29l 24l 2l sl 4

prepp

Your Personal Exams Guide



www.prepp.in

g S SR A Iy 1
2017 4.3 2-9' 38[ 17 32|19 48 38
2018 5.3 3.9] 5.4] 3.7 3.7] 2.2] 6.4] 42
2019 6.7] 4.3] 6.7] 5.6/ 3.1] 1.8] 5.6] 2.8
2020 83] 7.21 6.9 5.4 4.1] 2.5| 5.4 2.7

A & T TIRET B 9F AT AT BT Tw Tent ¥ W &
Ay & e anfereT & vudhe faenfedl (@wd @) @ dear & e § Rl R

fafsiest &l (A.B.C.D)¥ war Wer uiadifiar 3 swr foar ¢1 M -9%w, F - \iger :

&ar A B C D

la MIF IMJF MIF M [F

o016  [3.6 B2 [42 [3.7 B4 |28 |56 2
2017 |43 po |58 1.7 B2 |19 |48 Bs
2018 |53 B |54 37 BT |22 |64 P2
019 |67 163 |67 |56 Bl 18 [56 2.8
020 |83 172 169 |54 21 |25 154 [2.7

Find out the difference between average male athletes in 2016 and average male athletes in 2017,

2016 4§ i yzu verdiel Az 2017 3 altera ysu gercdiel @ da siag @I s Hifem ¢

[Question ID = 2003][Question Description = $2_q5Nz_PG_GP12_Q03]
1. 0.6

[Option ID = 8009]
2, 0.7

[Option ID = 8010]
3. 0.8

[Option ID = 8011]
4, 0.9

[Option ID = 8012]

4)  Study the given table and answer the questions that follow.

Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B. C. D). M- Male, F- Female.

lComties | A| B C D

Y ear M|F | M|F | M|F | M|F
2316 3.8 3.20 421 3.7| 3.4] 2.8] 5.6 4.2
2017 43| 2.9 3.8 1.7 32| 19 4.4 38
2018 53 3.9] 54| 37| 3.7 22| 64| 42
2019 6.7 451 67 56 31| 18] 56 28
2020 83| 721 69| 541 4.1 25| 54 2.7

MY & ¢ @it #) 9 sk AT R’e v weA F 3w & ;
Arer & T aifeisr & vyele f@enRal (@« 8) & gear & 7 & Gsle ar

faf¥iesr ot (A.B.C. D) & Wer FfAAfaiar 3 s1er forar g1 M- 9%9, F - Afger :

aar = A B & D

la MIF MJF MIF M

2016 36 32 |42 3.7 B4 |28 |56 B2
2017 43 P9 38 |1.7 B2 |19 HS8 |38
2018 53 B9 |54 3.7 B7 |22 |64 |2
2019 67 B3 |67 |56 B.1 |18 |56 |28
2020 83 |72 169 |54 B1 |25 |54 |27

Which country has the best 'Total Male-Female ratio’ from 2016 to 20207
2016 3 2020 o Sherar v 291 oo "o gea - aldon separ’ waifics 8 7
[Question ID = 2004][Question Description = 52_qSNz_PG_GP12_Q04]
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| ek

[Option ID = 8013]

2. B

[Option ID = 8014]

S

[Option ID = 8015]

4. D

[Option ID = 8016]

2) Study the given table and answer the questions that follow.
Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B. C. D). M- Male, F- Female.

lComties | A| B C D

Y ear M|F | M|F | M|F | M|F
2316 3.8 3.20 421 3.7| 3.4] 2.8] 5.6 4.2
2017 43| 2.9 3.8 1.7 32| 19 4.4 38
2018 53 3.9] 54| 37| 3.7 22| 64| 42
2019 6.7 451 67 56 31| 18] 56 28
2020 83| 721 69| 541 4.1 25| 54 2.7

Y & w5 o & 92 sl AT Re v v F R E
s & Y arfasr & vyelle f@anf3al (a3 &) & g & o § Agia ar)
faf¥iesr et (A.B.C. D) & Wer FfAAfaiar 3 s1er forar g1 M - 9%9, F - Afger -

aar = A B & D

la MIFF MJF MIF M

2016 36 32 |42 3.7 B4 |28 |56 B2
2017 43 P9 38 |1.7 B2 |19 B8 |38
2018 53 B9 |54 3.7 B7 |22 |64 |2
2019 67 B3 |67 |56 B.1 |18 |56 |28
2020 83 |72 169 |54 B1 |25 |54 2.7

Which country has the minimum number of male athletes during 2016 to 20207
2016 3 2020 <5 <izrm et 391 @ gau weEilcl Bl szcar <piaa & ?
[Question ID = 2005][Question Description = S2_qSNz_PG_GP12_Q05]

1. A

[Option ID = 8017]

2. B

[Option ID = 8018]

3. C

[Option ID = 8019]

4. D

[Option ID = 8020]

prepp
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Topic:- GP12_D2_SH2Z_SETZ_B

STt gEel @ Rre smergers dranfRig Fesrow iz gfy 3awseor o goor aar E S g O Ay wsdet A gane sH dwnfing e safteereal &

1) What is the type of graphic organiser or mind tool used for knowledge organisation that can help learners interpret,
represent, and organise information by making a graphic in cooperation with others?

SR 2ol A el, 30T Joell I WA o A #6C B WDl & 7

T

[Question ID = 2006][Question Description = $2_q5Nz_PG_GP12_Q06]
Concept mapping/ 3EeI3vn MARRIT

[Option ID = 8021]

2. Hyper media/affema (seme) #ifEn

[Option ID = 8022]

3. Gestural prompts/snqasiEom Yggis

[Option ID = 8023]

4, Divergent question/am=mt g
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[Option ID = 8024]

2) What is the name of the process in which the listener provides feedback to the speaker about the message heard and
the emotion conveyed and lets the speaker realize how he or she is being understood and respected?

3 Ylgar ol Tl oitdl & [atd 9l axb ©l ol 318 el a2l IR Heol @ faw 3 giayfte gera o & aon 32 aarm 2 b 33 oa gor
e frar o v 8 7

[Question ID = 2007][Question Description = $2_qSNz_PG_GP12_Q07]
1. Active responding/=fizr g 3 smo giRfRzEn ween

[Option ID = B025]
2. Active listening/wifm oo ©ran

[Option ID = 8026]
3. Centering behaviour/3ciie =rER

[Optien ID = 8027]
4, Adaptive teaching/ eyt Biem ween

[Option ID = 8028])

3) Match List | with List Il

List | List Il

Organization |Nature of course for MOOC

A, CEC I. Out of school students

B. IGNOU |II. Undergraduate education

C. NIOS |I|I. Teacher Training Programme

D. NITTTR |W. School education

Choose the correct answer from the options given below:

et | Y et -1l g it ;

e -1 e -l

(zi=1051) |(a1ee @ fere g 51 gapl)
A. 3R €30 Il Rremrerr 3 g & Rrerelt
B. 5591 |Il.mm1ﬁiﬁfér&rr

C. o1 3 3l oA 1. Risrs R ke

D. war o & & & sz IV, fremcrs Rign

aita 2w s Rrpeal 3 2 71dt 5=z gfom

[Question ID = 2008][Question Description = $2_q5Nz_PG_GP12_Q08]
1. A-l1,B-N1,C-1,D-IV

[Option 1D = 8029]
2, A-ll,B-1,C-I¥v,D-lI

[Option ID = 8030]
3. A-1,B-IV,C-Il,D-

[Option ID = 8031]
4, A-I¥Y,B-1,C-1I,D-l

[Option ID = 8032]

4) Given below are two statements

Statement I: In a learning organisation, the learning of teachers, their professional development, and the learning of
children, their education, are inevitably complementary and mutually

reinforcing.

Statement |l: Intrapersonal intelligence does not involve understanding the inner world of emotions and thoughts, and
developing the ability to control and consciously work with them.

In light of the above statements, choose the most appropriate answer from the options given below
il €1 werat Re s 3 ;

Do - | 1 v AR Heroa 3, ol ol afdeta, JoreT Uz faera AT arcrpl & AP, Jorbl forgn amfysr! Tu 3 uFsusgzs 3z
rrge gardiera ot

werel - | 1 s SalRpa AeEert Aassi i Rl @ sl s iz e #r Brie siT siereamar gul @rl 6 Adisaar © R @1
onfder gt ot

IRt UGl @ ACe #, skl BT s1e Risecdl # 21 adl 3 @1 o= &difem @
[Question ID = 2009][Question Description = $2_q5Nz_PG_GP12_Q09]
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| 1. Both Statement | and Statement [l are correct /foem | iz || S 52 &

[Option ID = 8033]
2. Both Statement | and Statement Il are incorrect/wem | iz || Sl oot &

[Option ID = 8034]
3. Statement | is correct but Statement Il is incorrect/wem | 38 8, freg wea || s 2

[Option ID = 8035]
4. Statement | is incorrect but Statement [l is correct/wem | 7 2, Fveg e || w2t &

[Option ID = 8036]

%) Which among the following constitute personal competence?
A. Empathy

B. Motivation

C. Social skills

D. Self awareness

E. Self regulation

Choose the correct answer from the options given below:

forafefiaa d 3 wia A Suakow s o b o & ?

A. FaEIRIHR
B. arfsnjzor
C. wmbrr gl

D. 7a - sueE=ma

E. amra - origor
skl fev =1e Ripoal # 31 718 307 @1 o @ik

[Question ID = 2010][Question Description = 52_qSNz_PG_GP12_Q10]
1. A, Band C only/@aa A, Bz C

[Option ID = 8037]
2. B,Cand Donly/saa B, C 3fia D

[Option ID = 8038]
3. B,DandEonly/®=a B, D sz E

[Option ID = 8039]
4, C,Dand Eonly/ssam C, DA E

[Option ID = 8040]

6) The form of asking mainly closed-ended questions that has been used in connection with the examination of people’'s
normative standards is Known as

wEaan Hfha sar @ gesl o goal w1 adas S del @1 Braerr Aeigst © adlsor aF Fder A gryer R sirer 8, 39 591 $u 3 St S @

[Question ID = 2011][Question Description = $2_qSNz_PG_GP12_Q11]
1. Abductive technique/ swemet mosite

[Option ID = 8041]
2. Vignette technique/ =Ry aodlis

[Option ID = 8042]
3. Hermeneutics technigue /=mearers tRydkn

[Option ID = 8043]
4. Qutlier technique/afEalft mosio

[Option ID = 8044]

7) What type of validity is this in which the researcher is encouraged to deduce hypotheses from a theory that is relevant
to the concept?

agl AL o1 Dial [T Yb1E arT 2 o, ves e Brgia s fs armemzon i Y greafng € s@el olerasal @ ufyeeuen fosifia oo @ e
gieniza fear s & 7

[Question ID = 2012][Question Description = 52_qSNz_PG_GP12_Q12]
1. Construct validity/@&fa e

[Option ID = 8045]
2. Concurrent validity/sweef aar

[Option ID = 8046]
3. Face validity/sifea (da) Femm

[Option ID = 8047]
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| 4. Convergent validity /st e
[Option ID = 8048]

8) Given below are two statements

Statement I;: Open coding is achieved by linking codes to contacts to consequences to patterns of interaction and to causes,
Statement |I;: Axial coding is the process of breaking down, examining, comparing, conceptualizing, and categorizing data.
In light of the above statements, choose the most appropriate answer from the options given below

i 3 ool RRE a1 3

el - | 1 @y Addel ot Hesf ufronal, sim:fgm @& gfasdl sliz SRl 3 Shiedmz I oifEa (ke oifEe) oI gm o= 3

el - 1 ; s o1 o (s ser) ailevl &, el ®ol, AYrRileI iz FHasifewvr &f gt cfera ifda ard 2

IURID Dl @ Jlelkd #, iRy [u 71e faedl # A 38t 3r &1 =RIol S

[Question ID = 2013][Question Description = $2_qSNz_PG_GP12_Q13]
1. Both Statement | and Statement [l are correct/wem | iz 1l ol =5t &

[Option 1D = 8049]
2. Both Statement | and Statement Il are incorrect/wmem | iz || Sil oot &

[Option ID = 8050]
3. Statement | is correct but Statement Il is incorrect/wem | ag 8, freg wea || aew 2

[Option ID = 8051]
4, Statement | is incorrect but Statement [l is correct/wem | 7em &, Foeg orm | 76 2

[Option ID = 8052]

9) Match List | with List Il

List | IList 1

A.
Selective cudingllt. To discover the most significant or frequent initial code
hat makes the most analytical sense

[Il. The procedure of selecting the core category,
Systematically relating it to other categories, validating
their relationships, and filling in categoeries that need
Ifurther refinement and development

B. Initial coding

C. Focused Iltll. It specifies possible relationships between categaries,
coding hese are integrative

[IV. Comparing data with data, staying close to and remain
open to exploring what is happening in data, construct
and keep the code short, simple, precise and active,

D. Theoretical
coding

Choose the correct answer from the options given below:
st -1 oY 3t -1 3 e Shifere
2yt -l et -1

A TIARHD BT HDTA ||| sratferes agragef sl aRaR SRAR IRBRS S 61 W@
(wifEar) wzon st Ro waiftrs Redaor ura s germ &

[Il. = w1 wrret @szol @51 ylen cafiend aia 3 33 od
el 3 Slisd 5%, 331 AL @l deral Yol e, i 3o
DIl WY g wvor R At oft ufters s Rl mw
1 AF9IRBI &

B. smfirr @ Faaet

(I, @1z el & dla ssnfda JFda s =i edt 3, 3
HAEIGITHT &

IV, srices 2t atiase 51 goron asion, frwe & gu stiavs 3 @
D. Jigiftrw o didaa 61 & 39D [0 Iga ¥5ell, B ) Sl AL ulyels
3zl g
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aitet few a1 fampeni 3 2Y 7dt oas gem

[Question ID = 2014][Question Description = $2_qSNz_PG_GP12_Q14]
1. A-ll,B-1¥,C-1,D-l

[Option ID = 8053]
2. A-IV,B-1,C-1,D-

[Option ID = 8054]
3. A-1,B-ll,C-Il,D-IV

[Option ID = 8055]
4. A-ll,B-II,C-IV,D-l

[Option ID = 8056]

10) There are various steps for creating survey forms using ICT application like Google Forms.
A. Select question type and create

B. Give name to survey form and save

€. Make questions mandatory/keep optional

D. Share with respondents

E. Configure the settings

Choose the correct answer from the options given below

Tl Wwid 513 3 3 € eiterbera ©T FwRNeT Wl 3 ¥ BR 8RR o @ Riffeo aem 3 @
A. U5 OB @1 TR 3R 3 AR @

B. wd wl w! oma o siiv @ ween

C. yrsil ot sifomart aoen / Repea s@en

D. gftiftoen &t ad @ w181 ABN w3

E. 2iféar @1 faeamn

oilay feu =1 faascul 3 31 il Sz @1 o« i @

[Question ID = 2015][Question Description = $2_qS5Nz_PG_GP12_Q15]
1. B.D, E €A

[Option ID = 8057]
2. C,D,A, B E

[Option ID = 8058]
3. A,C,B,E, D

[Option ID = 805%)
4, D,B, C, AE

[Option ID = 8060]

11) In a classroom context, when innumerable meaningful messages emanate from a finite number of linguistic signals, it is
called

= el © Aoy A el Foal i oo At e 3 s selam Heol gwse 3 3, 591 el ST S -

[Question ID = 2016][Question Description = $2_qSNz_PG_GP12_Q16]
1. Semanticism/ i o

[Option ID = 8061]
2. Cognition/dJs (Sifea)

[Option ID = 8062]
3. Productivity/smumesm

[Option ID = 8063]
4. Informatien processing/sxen gigamssut

[Option ID = 8064]

12) The advantages of diagonal communication are;
A. Resistance

B. Sidetracking

C. Anomie

D. Morale boosting

E. Co-ordination

Choose the correct answer from the options given below:
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frsuitar stwoer & emr £
A, gferwr
B. farriaz den
C. arwrarar (welifi)
D. srzeatier wen
E. wHoax
i 2w s1e fmscal 3 2t 718t oz gol ©

[Question ID = 2017][Question Description = $2_qSNz_PG_GP12_Q17]
1. A,Band Conly/dmm A, Baliz C

[Option ID = 8065]
2. B,Cand D only/@a=a B, Cae D

[Option ID = 8066]
3. C,DandEonly/saa C, D&z E

[Option ID = 8067]
4, B,Dand Eonly/@=a B, D&z E

[Option ID = 8068]

13) Given below are two statements

Statement I: Communication reflects the dimension of power.

Statement |l: Power and unethical communication are strongly inter-related.

In light of the above statements, choose the correct answer from the options given below
aifl o e Ru a1 3 ¢

wad - | @ FAquer giRp @ R @t yebia awm 2

wad - || : oifp iz sdfers Fguur swsrgll 3 smu A S ge 2

IR WG D ERD 3, skl e 91e Rrasedl d A #8 ow= @1 ags bbb

[Question ID = 2018][Question Description = 52_qSNz_PG_GP12_Q18]
1. Both Statement | and Statement |l are true/ovemE | Az | St T &

[Option ID = 806%)
2. Both Statement | and Statement |l are false foam | 35 1| S5 ame &

[Option 1D = 8070]
3. Statement | is true but Statement Il s false/wemr | 30 £, Foag e [ e £

[Option ID = 8071]
4. Statement | is false but Statement Il is true/@a= | s &, g T |l 3w &

[Option ID = 8072]

14) Ildentify the sequence of cultural barriers in communication as listed by experts:
A. Methods of conflict resolution

B. Difference in tolerance of conflicts

C. Semantic

D. Tone difference

E. Word connotation

Choose the correct answer from the options given below

fadvasii zr Fdag sAduer # Ao Ak & 34 o o veaf ;

A, ziwd oo &t ugiir

B. zimet o g afacugan & oo
C. aef - e

D. za3 - fieeran

E. o5 sifdremst

sy v =19 Rwseal @ A 38 sav o1 g difore

[Question ID = 2019][Question Description = $2_qSNz_PG_GP12_Q19]
16 E0D, Bk

[Option ID = 8073]
| 2. D,B,C,AE
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[Option ID = 8074]
3. EEABCD

[Option ID = 8075]
4. A, C,E, D, B

[Option ID = 8076])

15) Match List | with List Il

List | IList 1
Communication paradigms
pads [Description
A. Encoding-decoding [l. Realistic imagination of others’ views
. : Il. Participants are autonomous
B. Intentionalist I :
nformation processors

: lll. Conceiving communication as a process
C. Perspective taking L & E
hat uses language

D. Dialogism |I"u". Purposeful use of language

Choose the correct answer from the options given below:

et | Y et -1l g it ;

et - et -1l
(ziqEm gfere) |(care)
A, siceret -

_ |. 331 & Rt 1 Femelardt wousn

B. fafgarelardt |||, s1e1 ol aicl FarI 36N HAlling §

lIl. o5 gikbzn & 30 31 JYHUT 1 Bodsll D6l 1 HIETE BT FURNST
ezl 81

C. ufs)g= ctorr

D. srwifsa ll?.mmmxﬁ%&zrgpfmﬁm

ofia faw s1e fapenl 3 31 widl vz gféro ¢

[Question ID = 2020][Question Description = $2_qSNz_PG_GP12_Q20]
1. A-ll,B-N,C-I¥,D-l

[Option ID = 8077]
2. A-ll,B-IV,C-1,D-I

[Option ID = 8078)
3 A-IV,B-1,C-11,D-

[Option ID = 8079]
4. A-1,B-Il,C-ll,D-I¥

[Option ID = 8080]

16) What number comes next in this sequence?
19648, 1728, 112, ?

51 gjzaen # el wia i Fiwar sl & ?

19648, 1728, 112, ?

[Question ID = 2021][Question Description = 52_qSNz_PG_GP12_Q21]
1. 2

[Option ID = 8081]
2. 12

[Option ID = 8082]
3. 22

[Option ID = 8083]
4, 62

[Option ID = 8084]

17) A, B and C share a certain sum of money among themselves. A gets 35%, B gets ¥1500 and C gets 1/20. How much is
the original sum of money?
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A, B 3tz C oo oy afdr smosmr A wsr et B Aot 35 %, B oy T1500 afie C oY 1/20 gra xenr 3 eror fFft ger afdr Ryt 3 7

[Question ID = 2022][Question Description = $2_qSNz_PG_GP12_Q22]
1. %1500

[Option ID = 8085]
2. %2000

[Option ID = 8086]
3, %2250

[Option ID = 8087]
4. % 2500

[Option 1D = 8088)

18) Senthil said, "This lady is the wife of the grandson of my mother." Senthil is the only son of his mother and has no
sister. Who is Senthil to the lady?

Fifiret oY doar - "ag #izdr I8 #7iF D dia H uooll " AR Auchl HT o1 sdwciiarn der & iz adl oI 980 oidt & 3 wigar o1 oier B ?

[Question ID = 2023][Question Description = $2_qSNz_PG_GP12_Q23]
1. Hushand/of#

[Option 1D = 80B9]
2. Father-in-law/z3p

[Option ID = 8090]
3. Daughter-in-law/gaeg

[Option ID = 8091]
4. Brother/sms

[Option ID = 8092]

19) Given below are two statements

Statement I: If two numbers divided by a third number give the same remainder, their difference is exactly divisible by
that number,

Statement |l; Least common multiple of two or more given numbers is the largest number which is exactly divisible by each
of them.

In light of the above statements, choose the correct answer from the options given below

ofl Y werst Rus1e F ¢

weret - | 1 3pR g wwane v adt dAwen @ g R Ree sier v aeet g 30t 8, weror siae sa dwar 3 goia: Ronsa 3
et - 1 & orRt & ar e siftres HERneil o agaw warads 96 T af dwen ol § S sord A grdes © et gola: Rensy B
I well @ sty 3, of Ry se faweal # A wf saz o waa G

[Question ID = 2024][Question Description = S2_qSNz_PG_GP12_0Q24]
1. Both Statement | and Statement |l are true/arm | dz | ST = &

[Option ID = 8093]
2. Both Statement | and Statement |l are false foam | & 1 S5 ame &

[Option ID = 8094]
3. Statement | is true but Statement Il is false/wemr | 30 £ |, Foag e [ s £

[Option ID = 8095]
4. Statement | is false but Statement Il is true/mue | sera 2, Frog @ || s/ 2

[Option ID = 8096]

20) Which of the following statements are correct?

A. A bullet covers 55 meters in 2 seconds. Its speed is 99 km/hr

B. A can complete a work in 10 days. In 5 days, he can complete -;; fraction of the work
C. Walking at % of his usual speed, a girl is late by 2% hours, Her usual time is T% hours.

Choose the correct answer from the options given below:

frrgfeiad eyl IR faaR Sifvg :
A. U sigeh ! 7liell 2 9obs H 55 Hl. & €31 90 Sl §1 39H! d1dd 99 [ 1. 7 deT 8

B. A U@ B I 10 Tl # G vl 1 5%?1?%33@1@% YT RT 9Hdl B
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c.%aﬁaﬁwwﬁg tﬁaa?ﬂg%z% ﬂ%ﬁﬁaﬁa%amww?% Her |
it feu 7Y faseul § U TEl IR &1 U B :

[Question ID = 2025][Question Description = 52_qSNz_PG_GP12_Q25]
1. Aand C only/@acg A ditz C

[Option ID = 8097]
2. Aand Bonly/asm AR B

[Option ID = 8098]
3. Band Conly/sma B = C

[Option ID = 809%9])
4, Conly/aas C

[Option ID = 8100]

21) Match List | with List Il

List | lList 1

Propasition in Square of Opposition |Resultant

A. If 'A" is False |I. 'E'is False;" I is True

B. If 'E' is False |II. 'A'is True; 'E’ is True

C. If I'is False |III. ‘A’ and "0’ are Undetermined
D. If ‘0" is False |IV. 'E' and 'I' are Undetermined

Choose the correct answer from the options given below:

FLedt -l @Y I -1l 3 Fpifer Bifen

pedt -l pedt -l

(aesara &1 R - asf) (Forepd)

A. arerz 'A areve |. 'E' stmeer &; ' ser &
B. s 'E' spwa B I A"z 8; E s 2
C. sor 'I' s & [, ‘A’ iz 'O wlereifya &
D. 3o 'O srewer 3 IV. 'E' 3z 'I' el

ol faw s1e farmenil 3 31 wdl ez gféro ¢

[Question ID = 2026][Question Description = $2_qSNz_PG_GP12_Q26]
1. A-IV,B-lI,C-ll,D-l

[Option ID = 8101]
2. A-NIL,B-I,C-1,D-IV

[Option 1D = 8102]
3. A-ll,B-I¥,C-1,D-N

[Option ID = 8103]
4. A-1,B-Il,C-lIl,D-I¥

[Option ID = 8104]

22) When a middle term does not go further than producing a state of mental oscillation between two opposite views, the
case is known as

59 U 31, o faudia zReeil & wea amifire S ot afsr & gegriiewu @& et ol arar 8, dl @8 Yool el ST 3

[Question ID = 2027][Question Description = $2_qSNz_PG_GP12_Q27]
1. Fallacy of Viruddha (contradictory middle) /g Zoamms

[Option ID = 8105]
2. Fallacy of Asiddha (unproved middle)/ afbng Z=mrs

[Option ID = 8106]
3. Fallacy of Prakaranasam {counteracted middle)/ geszonr Zramsrs

[Option ID = 8107]
4, Fallacy of Savyabhichara (irregular middle)/mi¥em 2rosra

[Option ID = 8108]

23) MName the fallacy committed in
"Ssome good actors are not strong men.
All professional wrestlers are strong men.

L

Therefore, All professional wrestlers are good actors.'
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e e ifdroran arcroneht oy orft 851 8
o0t ez userarsr acench gEw B ¥
gafere, w9l Odlas useare sea 3ifSelan &l &

[Question ID = 2028][Question Description = 52_qSNz_PG_GP12_Q28]
1. IWicit major/ ¥ Fea

[Option ID = 8109]
2. Illicit minor/ @y gar

[Option ID = 8110]
3. Undistributed middle /xSt 2g

[Option ID = 8111]
4. Affirmative conclusion from Megative Premises/ToRnns frvod, TRIcAT MER O 3

[Option ID = 8112]

24) Which of the following is taken to mean inference by elimination, in which the inferred character is the residuum of a
process of elimination that excludes other characters?

feraaifsa # A Wit Breaa & Fwr A sorer @ wa A foren w1an 3, By sropnfaia Ridram, Breaa & gfigar o e § ot gt Rigtaarait
W Aaafald T 8

[Question ID = 2029][Question Description = 52_qSNz_PG_GP12_Q29]
1. Purvavat Anumana/qdo aepia

[Option ID = 8113]
2. Sheshavat Anumana/ Sivae e

[Option ID = 8114]
3. Samanyatedrshta/mFewics

[Option ID = 8115]
4, Palesa/qar

[Option ID = 8116]

25) Which of the following pertains to fallacy of ambiguity?
fotdal 3 31 Dial ol Zranua (Bl 3w uliagsydd) 2 Falfm & ?

[Question ID = 2030][Question Description = $2_qSNz_PG_GP12_Q30]
1. Equivocation/ceigeses (segiidos)

[Option ID = 8117]
2. The straw man/wase=isT ()

[Option ID = 8118]
3. Hasty generalization/sitg sre=ftesn

[Option ID = 8119]
4, The red herring /3= 2=

[Option ID = 8120]

26) What is a Utility program?

RS oy e 3 ?

[Question ID = 2031][Question Description = $2_qSNz_PG_GP12_Q31]
1. It translates data into a format understood by the device/fEursa @ g w0 =6 arn Gt 3 31 @t Fevfy wwn 3

[Option ID = 8121]
2. It permits the sharing and exchange of data/2er & arsn A Blowr &t sepi 3ar &

[Option ID = 8122]
3. It makes copies of files on anather storage device /= w0 Bra w ot & gty aemen 2

[Option ID = 8123]
4. |t is a part of the operating system which carries out defragmentation or disk formatting/ s RBren @1 o amr s BEeritern Erw wilids o

[Option ID = 8124]

27) Match List | with List 1l

List | List Il
A. Network System |l. Email
B. Operating System|ll. Firewall

C. Memory lll. Mac
D. Communication |IV. ROM
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Choose the correct answer from the options given below:

3t -| DY R -1l 3 AR S ;

o -1 et -l
A, dicads S I &3

B. st Brrewr . wrers dter

C. Pt L. #i (oo o 3h)
D. wwrRiberst IV, S (wrz. s, wa)

oital 2w o0 Rroeal & 2 21dt 5wz gfom

[Question ID = 2032][Question Description = $2_qSNz_PG_GP12_Q32]
Toclion | Bl A T BTV

[Option ID = 8125]
2. A-NLB-IV,C-1,D-1

[Option ID = 8126]
3. A-I,B-1,C-IV,D-I

[Option ID = 8127]
4. A-I,B-1,C-I1l,D-1

[Option ID = 8128]

28) Read the following statement and choose the CORRECT code:

A. Radio frequency identification systems use radio waves to read and capture information

B. MICR (Magnetic Ink Character Recognition) characters are easy to forge and cannot be written over
C. OMR (Optical Mark Recognition) reads marks written in pencil or pen in specific places on a term,

D. Optical Character Recognition (OCR) scans the text and converts it into a computer-readable format
E. Barcodes can be forged or damaged

Choose the correct answer from the options given below;

forafarfiaa were @t ug iz 7l &1 gol :

A. Fxromsil a1 FfEuT el Al Ugol @ e e figad snsdfRfbworer Rirrcw M3 adsh wr gelier waa 3

B. varang Mo (disaiftew o dyacy Dodifaem) o ssr amrsh d Rfsilia 810 € aen 3o soz aff frean =i Awar
C. sitenanz (iiftcra wad Dosifferorar) Rzt wid a¥ v RAfdree rorer # afswa sierar won 3 Rl 1w Risl o) g dar 3
D. siiftcavar dyac: Basifeoremm (sir3itanz.) 2avre o wa wea 3 i wreges & ZRn ug Sid dse Biide # goa Sar 3
E. arvwrs o aiftr agarht sn wrsddt 3 ar snerasht Bar s wowan §

ofld v s1e Ryesedl 9 3 78 3w o awer S :

[Question ID = 2033][Question Description = $2_qSNz_PG_GP12_Q33]
1. A,Band Conly/®am A, Baiz C

[Option ID = 812%]
2. B,C,DandE only/@a= B, C, D iz E

[Option ID = 8130]
3. A, CandEonly/@ma A, Caie E

[Option ID = 8131]
4. A, C,Dand Eonly/@aa A, C, DA E

[Option ID = 8132]

29) Given below are two statements:

Statement |: Every time a device connects to a network, it is given an IP (Internet Protocol) address.
Statement |l: Devices that never disconnect retain the same |IP address.

In the light of the statements, choose the correct answer from the options given below

ofidl <t were Ru s & ¢

were - | ¢ 27 e vor Basy S| oicaw A 5l & dl 33 Rl (Sereie gidieion) 83 o s 2

el - || f3ama =i ot oft 3moiae ol Bld oot Al ¥3a F1ATe 9ol &l 2

IUITE DIl B KD #, ikl fow 21e fawcdl d 3 1l sz @1 aaa Hifsmw ¢

[Question ID = 2034][Question Description = $2_qS5Nz_PG_GP12_Q34]
1. Both Statement | and Statement |l are true/orem | Az 1 St =T &

[Option ID = 8133]
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| 2. Both Statement | and Statement [l are false/wamr | i3 1| S5 o= &

[Option ID = 8134]

3. Statement | is true but Statement Il is false/wemr | 30 £ |, Foog e [ s £

[Option ID = 8135]

4. Statement | is false but Statement Il is true/=eus | amm &, freg e || = 8

[Option ID = 8136]

30) Match List | with List 1|

List |

List Il

A. Measurement Application

. Automatic Oven

B. Control Application

Il. Website

C. Modelling Application

Ill. Weather station

D. Communication Application

IV¥. Car Crash Simulator

Choose the correct answer from the options given below:

areft -| Yl -1l B AR Hifer ;

et -1 el
A 3rarzdic dRcder Il. caBw i

B. @elc dftercorel . a¥errrse

C. sifdRio Werderr . Az s2om

D. wayfrdere Bftcrber Iv. o & afugce

aitet few a1 fawpeni 3 2 5dt oas gem

[Question ID = 2035][Question Description = $2_qSNz_PG_GP12_Q35]

1. A-1L,B-1L,C-1v,D-1

[Option ID = 8137]
2. A-NIL,B-1,C-1V,D-1I

[Option ID = 8138]
3. A-I,B-IV,C-1,D-1N

[Option ID = 8139]
4 A-NL,B-IV,C-1,D-1

[Option ID = 8140]

31) Which of the following are the missions of the National Action Plan on Climate Change?

A. National Solar Mission

B. Green Indian Mission

C. Western Ghat Development Mission

D. National Water Mission

E. Air Pollution Mitigation Mission

Choose the correct answer from the options given below:

fBreaferfioa 3 31 @iar - A srorary af¥ader g weda wrl Aison @ Prom € 7

A. Iier iz from
B. v s fom
C. uinht me Reprr e
D. e a1 fhors
E. arg youor 3uedd fhemt

skl fev =1e Ripoal # 31 718 307 @1 o @ik

[Question ID = 2036][Question Description = 52_qSNz_PG_GP12_Q36]

1. A, Band D only/@am A, Bafiz D
[Option ID = 8141]

2. A,B,Dand Eonly/dam A, B, Dalis E

[Option ID = 8142]
3. A,BandEonly/®aa A, B sz E

[Option ID = 8143]

4, A, C,Dand Eonly/gma A, C, Ddz E

[Option ID = 8144]

prepp
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32) Nationally Determined Contributions of European Union (EU) countries aim at a reduction in Green House Gas emissions
by the year 2030 (in the reference to 1990 levels) to the extent of

Tarcter g (EU) o Sonit o wrcdler wore a3 fredfya Aercei o 32ea 3 fs 2030 aw (1990 @ v @ g &) shass sial © scwslor 3
@ 1 @melt & 1w

[Question ID = 2037][Question Description = $2_q5Nz_PG_GP12_Q37]
1. 40%

[Option ID = 8145]
2. 50%

[Option ID = 8146]
3. 35%

[Option ID = 8147]
4, 55%

[Option ID = 8148]

33) Which of the following contaminants in water can cause adverse human effects such as mental disturbance and
impairment of speech, hearing and vision?

st d forsatferfiam 3 31 Rowr siguos A smel¥ne arvnifer iz awdl, g wa eite &t arensil St gitrpm gyma sem Fase Uz ot Jwa & 7

[Question ID = 2038][Question Description = 52_qSNz_PG_GP12_Q38]
1. Arsenic/aniEmr

[Option ID = 814%]
2. Methyl mercury/fense wa

[Option ID = 8150]
3. Lead/=m

[Option ID = 8151]
4. Nickel and Chromium/ & iz |ifFms

[Option ID = 8152]

34) Identify the correct sequence of countries that are the world's leading geothermal power (in MW) producers.
A, New Zealand

B. lceland

C. USA

D. Indonesia

Choose the correct answer from the options given below

fpa & sl sandi ssit (MW) srace 2ell @ w1dt ©a &6 et ot ¢
A, wElids

B. anzads

C.gunu

D. ESoiforn

ofll 12U s1e faeseal 3 3 7l Iz @1 @l DI ©

[Question ID = 2039][Question Description = $2_qSNz_PG_GP12_Q39]
1. C>A=B=D

[Option 1D = 8153]
2. A>C=B=D

[Option ID = 8154]
3. D=C=A>B

[Option ID = 8155]
4 C>D=>A>B

[Option ID = 8156]

35) Match List | with List I

List | List 11

A. Montreal Protocol |I. Environment and sustainable development
B. Rio Summit [II. Reduce the emission of Green House Gases
C. Kyoto protocol |III. Climate change mitigation and adaptation
D. Paris agreement IV, Ozone Depletion
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Choose the correct answer from the options given below:

et - Y et -1l B g it ;

ot -| ot -l

A. aifercr Qasicr I, waferzor stz zitmeofia Riora

B. f¥=i o sode= Il. sh¥re1E Sl @ Frlal # @l omen
C. =id et 1, srevary utsacdor oo 7 MR
D. e Zigwsilar IV. sfisiter grzor

aitet few a1 farpeni 3 2Y 5dt o gem

[Question ID = 2040][Question Description = 52_qSNz_PG_GP12_Q40]
T, A=, B-1,C-ll,D-I¥

[Option ID = 8157]
2. A-IL,B-II,C-IV,D-l

[Option ID = 8158])
3. A-IV,B-l,C-I1,D-N

[Option ID = 8159]
4. A-IV,B-Il,C-1,D-

[Option ID = 8160]

36) Association of Indian Univercities (AlU) is established with an objective to:
A. Maintain quality and standards of universities

B. Serve as an Inter-University Organization

C. To facilitate communication, co-ordination and mutual consultation amongst universities
D. To recognise universities to run different cources

E. To act as a liaism between the universities and the governments.

Choose the correct answer from the options given below:

i Reafenerr g (Tanszy) 6t Femuen Rver 3eal o fong 3§ oft ©

A. Rreaftencri &6t sporan iz sewrol &t Sz ween

B. sz - forafdeor Jeod © U # I Dol

C. erafdencr @& da 3 Fizne, Aaea iz uzeuz uaagt &1 Fglan ge= wien

D. it uigerpA acel B [ow ferafdencsl &1 usarel wren

E. Rrafdencral it wron! & dka JAuws - 7arad & »U A R oo

oiicy feu =1 famscul 3 31 wdl Sz @1 aga $ifa @

[Question ID = 2041][Question Description = $2_q5Nz_PG_GP12_Q41]
1. A, Band C onlyf@am A, Bafiz C

[Option ID = 8161]
2. B,CandEonly/dmm B, Caliz E

[Option ID = 8162]
3. B,Cand D onlyf@am B, Caie D

[Option ID = 8163]
4, A, B, Cand Donly/Dma A, B, Calz D

[Option ID = 8164]

37) Which of the following is NOT a parameter for ranking according to NIRF?
Ual ¥ AT OB o5 3ielAe 3pel @ e forgaifeiiiaa 3 3 Siel 31 v Hoi® ol 8 :

[Question ID = 2042][Question Description = $2_qSNz_PG_GP12_Q42]
1. Teaching, Learning and Resources/fawewr, sifieer sz demeer

[Option ID = 8165]
2. Campus Placement /ui¥er Feraa (d0x ©REic)

[Option ID = 8166]
3. Research and Professional practice /s iz sneanfes awens (Gike)

[Option ID = 8167]
4. Qutreach and inclusivity/ smecda diz FaRismT

[Option ID = 8168]

38) SWAYAM is initiated by Govt of India with an objective to
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A. Ensure best quality content produced and delivered

B. Provide quality materials with nominal cost

C. Teach all classes from class-IX to PG

D.Assess students continuously and grant degrees

E. Accessed by anyone, anywere at anytime

Choose the correct answer from the options given below:
A FAFTR TR 97 Roar srn = (SWAYAM) orlas @ st § -
A. 3T ST aril faer - a3 aetet 3 Yot 9531 smol 1 Fietidaa wwen
B. sirmarng e u? sy ARE[l goiel wiel

C. T8 - |1X 3 uereenas ao @il S el o) uslen

D. RenfERi @1 R feened iz Juif?n ygia o

E. Roaft @ gra, wél 21, foredt oft s uga & den

oilay feu =1 faascul 3 31 il Sz @1 o« i @

[Question ID = 2043][Question Description = $2_qS5Nz_PG_GP12_Q43]
1. A, Cand D only/®aa A, Caz D

[Option ID = 816%9])
2. A, CandEonly/@ma A, Calir E

[Option ID = 8170]
3. A,Band C onlyfa@am A, Bafiz C

[Option ID = 8171]
4, B, Cand Donly/@mm B, Caie D

[Option ID = 8172]

39) Match List | with List I

List | List Nl
A. The Education commission 1, 2009
B. Naticnal Policy on Education Il. 1964-66

C. University Education Commission [lll, 1986
D. Mational Knowlegde Commission |IV. 1948-49

Choose the correct answer from the options given below:

et | Y et -1l g it ;

et -| et -1l

A. Rren aimier I. 2009

B. a1e¢ler el sRf lI. 1964 - 66
C. RreaRencrs Ry et In. 1986

D. 3Tt sT7e1 ARIST Iv. 1948 - 49

ol faw s1o faemenl 3 31 wdl 3z gféo ¢

[Question ID = 2044][Question Description = $2_qSNz_PG_GP12_Q44]
1. A-l,B-l1,C-ll,D-IV

[Option ID = 8173]
2. A-IV,B-IIl,C-Il,D-l

[Option ID = 8174)
I A-LB-I,C-¥,D-l

[Option ID = 8175]
4. A-ll,B-,C-IV,D-I

[Option ID = 8176]

40) The statutory body responsible for maintaining quality and standard of teacher education in the country is:
Sor & sitamaes Rign suraal iz ARRE Wl goe 30l @ o smweri wifafce Brer & :

[Question ID = 2045][Question Description = 52_qSNz_PG_GP12_Q45]
1. AICTE/mamE ¢t g

[Option ID = 8177]
2. NCTE/woroft &1 €

[Option ID = 8178]
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| 3. NCERT/mm st S am= &

[Option ID = 8179]
4, UGC/qdtt =t

[Option ID = 8180]

Topic:- GP12_D2Z_SH2 SET2 C

1) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes, Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain, Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals, Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress, Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.

3TELD TB1 Ufe d Yo T 3k Sifome &

SR T 30KD HASTolors R & - RKida o3 ©rt sz gine el el - Breg ydas rfar e 8 diiz saftm 5o sonf2rr arerar ubsafida
fosen o Ao 2 et wehiferdl 3 asaz saard aue a R reora, gfdrgwr, Tl o are Grefwn, orf o gor: sfiecue, adl g
wamst nElicdl, e Aewine AYuw, waaar Repa i wrukc e orkpa anfia £ @9 ©Rl s & Mg s samaget 6 3,
U A211en &atel ¢l &, caamidl Belerl 3 Hioor-fiee diet Bisel Yrgaez 3 2 & aen & o @a agha sieman forigun @ ara diea arct
s aftnr cam gaor A0 ¥ w6t 3 Fenerer Biofil i wor ozl @1 saror 3 w0 suer a3 Faw ¥ R gaen o sl ol sialir doa ad
3pidl cafzedl wep & HiBm sl smen oy, oy U wRn o sam ak S| # aftre gardl $u 3 spelin @ wwea 53t s, g 3
safipdl &1 Fael & gunfaar ag At 3 iz T e SRl &1 doa oF ©F AGdt 8 5™ kel @ Jruse g geidiguf dg Breer 2 otz o
cigl @1 Iz Forbl yeiiel @ ai # givrgite gra Skl 3, i Joet yoelol deme 8 2 < oara # @l o1 Jepd & 3 Jfigzon s ygier @ wea
2 aust gl @ gfer arattre aaltia iz e orf o 32ea gof aem ot ol o ®a gam sea gk 2 =i sadt st anen 2 fio
q AR Wl FIEN Alolol OF Ferel O3 I gw goildht @l ¥F Frase g goofar ardanail w Tuse wxl ¥ Bordd g F161 @ e gk ¥ 3Ad
sifvifsp, Tga yiegite amalier wrt ygola s<eh sl o on wwit §  ufvme sasu wadarst saen, yfice seeieia sz saa oa g
et ot aftre offra, Aftre wnedfe ort So, afte Farma iz afts gfagRe 21 @ i oRi @) ger: sfifsféud &2 ca™ & 8- ol
Al  aifs A acr et o orf siRRfERT ue afins Rriger 231 i gaEl oz Bolvm 3 o6t o

Which of the following form the management strategy for reducing organisational stress factor?
{(A) Achievable goals

(B) Employee wellness

(€) Compulsory leave

(D) Top-down communication

Choose the correct option:

HPToREr Gar @xpl o acK @ e BuafoRaa 3 3 @ yatm wiehf # alakneg € ?
A, gy aga

B. wefarrlt Fazercn

C. aforart srawmrer

D. uz 3 i sAgmer

oifer fov s1e femsedl 3 31 wdl 3z 9o ¢

[Question ID = 2046][Question Description = $2_qSNz_PG_GP12_Q46]
1. Aand Bfdffaa Asfiz B

[Option ID = 8181]
2, Band C/dm B €

[Option ID = 8182]
3. € and D/dae C 3w D

[Option ID = 8183]
4, Aand D/Dma Az D

[Option ID = 8184]
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2) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals. Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.

srerier W aftye a gest wr 3ae S

S @ ol FisTofonr wrew B - fady wr ort iz yfio: ddel aish - Bed gderer forafea wear 3 v suftre w08 sonfdr sreran ufrafela
e 5o e 3 Fravita weilfiel # deme oeladt e a ort Fearoa, gidismn, aured oxw e Berfsn, ©rt o ga: sificsoaa, =dt g
@mafand weficrdl, deaz Fisrofores Ftwwr, oifard e iz wrulic Fares oriaH onficd 2 o R as &t aen aftres caagef 24 3,
Uor] ARG a6l ¢l &, caiamil Rakrll 3 Beor-i9ee diet Boe yrgee 3 8 & oo & [p @ sigpm@ s Horigun @ a5a dieH arcl
cafep ffres cam gav 89 8 atel A1 Fenad forfer 3 so1 ael o1 eomet 3 Tz ool anfge e § o6 geita @1 andl @1 stiafye diea
syl valRpal aov & B w8 wen ofde, gveg ¥ vafts 3o gara ara Sita # sftrs gurdt sa 3 ygofa & woa w2t aws, gfdeor 3
cafrpel &t Tt B genkiar 56 sl 2 3z 53 R orl a1 aoma on o wwdl s skl o Jrase g geiidigel aga B 2 sz sa
elg=i o1 2z Jorbl yaifel @ aiz 3 gfirgfte g 2kl 3, at Joro1 geolar deaz &iar 2 g <ara 3 @l o1 AAasar & aiiz afingzon st getel & aoa
2 3mual cigdl @ gt sl wafta siiv sua wrl @ IRea gof aee akl wedanfxil o wa gama sigsm dien § r=iifs sebt aifére amom 2 Re
d caK ®I JrE Allol O FTE U 33 U eildl dlol B JFuce o1 yeola srdemal ol ruse &2 & ferd gy glal &t dier 8l 8 53
sifefer, @es gitgite arrale wrl golor ddach sifeifrmsi o on ot 8 oo sawa waad sonen, sfeor aerwrelar s sara on Ssn
Dt @ sftre oiffia, siffre wneles ®rl 29, afles Farmaan &z af?rs gfagfte 2a © fow orf ©f gor sificsfeua o2 gama =1 acrn an
Aw 2 i A oo et o orf siffaftril uz siftre foriqur 91 itz gt uz fonizar 3 ot o8

What type of people are more prone to stress than others in the organisation?
FHoraat 3 gFl &l aden Afire ca™ gau ard dk fea gor S aa E ?

[Question ID = 2047][Question Description = $2_qSNz_PG_GP12_Q47]
1. Individuals with job experience/wri s ol =ity

[Option ID = 8185]
2. People with outside position of control/ Erign @ T ugaw et

[Option ID = 8186])
3. Employee with internal locus/ iy siesa AT o

[Option ID = 8187]
4. People who are assigned new responsibilities. /3 o= B3 o sifma #0 5w £

[Option ID = 8188]

3) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes, Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain, Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals, Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance, Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress, Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.

3TELDI TB1 Ufes a goe T 32 Sifome -

ZaId W 30D AleTolrr R ¢ - [idy o= Rl iz yibnr FAdch w7l - Bred yaae friftm wem & iz safem sod Feifin arern ubatia
foean o e 2 feremaflan omcfiferll 3t dzaz watardl awe a ©rt Feneral, gidigwr, denel uze arer foraizor, ©rRf o1 ger: sfirecust, adl g%
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araterrd wstorfl, dsaz werofers Aguor, okl Ao sl wrdic rarey wrfaa afia 8 oo orl aea & kg siftres camaget 1 3,
U, A211en &atel ¢l &, caiamid Belerl 3 Hicor-fiwe diet Bieel Yrgaez 3 € & aend & o @a g sieran forinnn @ ara diea arct
s afinr sam gaor A0 ¥ w6t i Fenorer Biofal i vor aeal @1 saror # vun suer w3y Fawe § R gaenr o sl ol aialyr doa ad
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Which of the following can reduce the job strain?
(A) Hiring of only young people

(B) Emphasising performance expectation
(C) Commitment to the job

(D) Perception of hindrances as challenges
Choose the correct option:
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[Question ID = 2048][Question Description = $2_qS5Nz_PG_GP12_Q48]
1. Aand B/Paa Aafiz B

[Option ID = 818%9)
2. Band C/mm B dn C

[Option ID = 8190]
3. C and D/dae € e D

[Option ID = 8191]
4, Aand D/Dmma Az D

[Option ID = 8192]

4) Read the given passage and answer the following question,

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts inte consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals., Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.
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Employee frustration and role ambiguity can be reduced by
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[Question ID = 2049][Question Description = $2_qS5Nz_PG_GP12_Q49]

1. Assigning low stress work/Sw oae awr ©r 30

[Option ID = 8193]

2. Harsh evaluation of job performance/wrt ysela o ooz sp=mrer
[Option ID = 8194]

3. Changing the level of task performance/or ygda 71 7z ufakia @

[Option ID = 8195]
4. Providing performance feedback to employee /sseaf =1 gasla gftmfie gere o=

[Option ID = 8196]

5) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals. Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.
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The measures suggested in the passage to reduce organisational stress are:
(A) Redeployment of employees

(B) Allowing workers more control over their activities
(C) Retrenchment of non-performers

(D) Re-distribution of specific goals

(E) Re-designing of jobs

Choose the correct option:
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[Question ID = 2050][Question Description = $2_qSNz_PG_GP12_Q50]
1. A,B, Conly/@wma A, Bafis C

[Option ID = 8197]
2. B, C, Donly/@aa B, C iz D

[Option ID = 8198]
3. C,D,Eonly/@ma C, DA E

[Option ID = 8199]
4. A, B, E only/@me A, B iz E

[Option ID = 8200]




